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Choose the correct option (1x15=15)
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/1 + % is a differential equation of degree -
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a. 1
b. 2
c. 3
d. 4

5. The degree of the differential equation

() 452 (@) i er=ern-
a. 4
b. 3
c. 2
d. 1

6. In the linear differential equation of the form :—; +Px=Q, Qis

a. A constant.

b. Function of x.

c. A constant or a function of y.
d. Function of bothx &y.

7. The integrating factor of the differential equation % +Py=4Q,
is -
a. e
b. e
C. ef Pdx
d. e/ Py

X
Px

8. Which of the statement(s) is/are true ?
i. f(x) =x3isdecreasing in (—o0, )
ii. f(x)=x"*isincreasing in (—,0)
a) Only i. is true.
b) Only ii. is true.
c) Both i. and ii. are true.
d) Both are false.



9. If the slopes of the tangent and normal to the curve
y=f(x) at (x,y) be Z—z and m respectively , then

d) None of these.

10. If the tangent to the continuous curve y =
f(x)at P(a,b) is parallel to x-axis, then the equation of
the tangent at P is —

a)y=»>b
b)y=a
c)y=-b
dy=-a

11. The slope of the tangent to the rectangular hyperbola
xy = c? at (ct, %) is —

12. The minimum value of the function f(x) = x? —x + 2 is ?
a) 4 ;0 b) 1 ; ¢) 7 ; d) None of these.



13. The area bounded by the straightlines 2x = 3y, x = 3,x = 5
and
x-axis (in square unit) is -
a) 16
b) 8
c) 4
16
d) Y

14. In an LPP, the decision variables can take ?
a) Any real values
b) Any integer values
c) Any natural numbers
d) Any non-negative real values

15. An infeasible LPP has ?
a) Aunique solution
b) No solution
c) Many solutions
d) None of these.




